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CHEMISTRY / ¹ÎàÚ>

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹ l¡üv¡¹ 
ƒà*¡ú

1. Îàº[ó¡l¡ü[¹A¡ "¸à[Îl¡ ëÎà[l¡Úà³ ÒàÒül¡öGàÒüìl¡¹
ÎìU [>ìW¡¹ ³t¡ [¤[yû¡Úà A¡ì¹ :

   H SO NaOH Na SO H O2 4 2 4 22 2+ = +

™J> 1 L 0·1 M H SO2 4 ‰¤oìA¡ 1 L 
0·1 M NaOH ‰¤ìo¹ ÎìU [¤[yû¡Úà A¡¹ìt¡
ëƒ*Úà ÒÚ, t¡J> l¡ü;šÄ ‰¤ìo Na SO2 4 &¹ 
ë³àºà[¹[i¡ Òì¤

(A) 0·10

(B) 0·05

(C) 0·025

(D) 0·20

2. 3 ë³àºàº NaOH&¹ \ºãÚ ‰¤ìo ‰à¤ìA¡¹
ë³àº ®¡N—à}Å Òº

(A) 0·3

(B) 0·05

(C) 0·7

(D) 0·95

3. 4 g ÒàÒüìl¡öàì\> 20 g "[Gì\ì>¹ ÎìU
[¤[yû¡ÚàÚ \º ít¡¹ã A¡ì¹¡ú l¡ü;šÄ \ìº¹ ®¡¹ Òº

(A) 22·5 g

(B) 24 g

(C) 36 g

(D) 40 g
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Direction : Answer the following questions

by selecting the correct option.

1. Sulphuric acid reacts with sodium

hydroxide as follows :

   H SO NaOH Na SO H O2 4 2 4 22 2+ = +

When 1 L of 0·1 M  H SO2 4 solution

is allowed to react with 1 L of 0·1 M

NaOH solution, then the molarity of 

Na SO2 4 in the solution obtained is

(A) 0·10

(B) 0·05

(C) 0·025

(D) 0·20

2. Mole fraction of the solvent in

aqueous solution of NaOH having

molality of 3 is

(A) 0·3

(B) 0·05

(C) 0·7

(D) 0·95

3. 4 g of hydrogen reacts with 20 g of

oxygen to form water. The mass of

water formed is

(A) 22·5 g

(B) 24 g

(C) 36 g

(D) 40 g



4. ™[ƒ &A¡[i¡ ‹àtå¡ M-&¹ tå¡º¸àS¡ ®¡à¹ ÒÚ x &¤}
&¹ "GàÒüìl¡¹ Î}ìA¡t¡ M Om n , t¡ì¤ ‹àtå¡[i¡¹
šà¹³ào[¤A¡ ®¡à¹ Òì¤

(A)
2xn

m

(B)
2mn

x

(C)
2xm

n

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

5. ëA¡à> K¸àÎãÚ ÒàÒüìl¡öàA¡à¤¢ì>¹ Î´šèo¢ ƒÒì>¹ \>¸ 
&¹ "àÚt¡ì>¹ 5 P¡o š[¹³ào "[Gì\> šøìÚà\> 
&¤} ƒÒì> l¡ü;šÄ K¸àÎ [³Åøo[i¡ìA¡ KOH ‰¤o
[ƒìÚ cò¡àA¡àìº KõÒãt¡ ÒàÒüìl¡öàA¡à¤¢ì>¹ 3 P¡o
"àÚt¡> Î}ìA¡àW¡> Qìi¡¡ú ÒàÒüìl¡öàA¡à¤¢>[i¡¹ Î}ìA¡t¡ 
Òº (Î¤ "àÚt¡> &A¡Òü l¡üÌ¡t¡à * W¡àìš ³àšà
ÒìÚìá)

(A) CH4

(B) C H2 6

(C) C H3 8

(D) C H2 2

6. l¡üZW¡ W¡àìš &A¡[i¡ ¤àÑz¤ K¸àìÎ¹ Î}>³¸t¡à P¡oA¡[i¡ 
Òº

(A) 1+
Pb

RT

(B) 1-
Pb

RT

(C) 1+
RT

Pb

(D) 1
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4. If the equivalent weight of a metal M

is x and the formula of its oxide is 

M Om n , then the atomic weight of

the metal M will be

(A)
2xn

m

(B)
2mn

x

(C)
2xm

n

(D) None of the above

5. The amount of oxygen required for

complete combustion of a gaseous

hydrocarbon is five times of its

volume and the gaseous mixture

produced after combustion, on

shaking with KOH solution

contraction occurs three times of the 

volume of taken hydrocarbon. The

formula of the hydrocarbon is (all

volumes are measured at same

temperature and pressure)

(A) CH4

(B) C H2 6

(C) C H3 8

(D) C H2 2

6. The compressibility factor for a real

gas at high pressure is

(A) 1+
Pb

RT

(B) 1-
Pb

RT

(C) 1+
RT

Pb

(D) 1



7. 25 ºC t¡àš³àyàÚ &A¡[i¡ Jà[º šàìy Î³à>
*\ì>¹ [³ì=> &¤} ÒàÒüìl¡öàì\> K¸àÎ [³[Åøt¡
A¡¹à Òº¡ú ë³ài¡ W¡àìš¹ ë™ "}Å[i¡ ÒàÒüìl¡öàì\>
šøƒÅ¢> A¡ì¹, t¡à Òº

(A)
16

17

(B)
8

9

(C)
1

2

(D)
1

9

8. 27 ºC t¡àš³àyàÚ &A¡[i¡ "àƒÅ¢ K¸àÎ "oå¹
KØl¡  ë¤K 0·3 m/sec. 927 ºC t¡àš³àyàÚ
KØl¡ ë¤K Òì¤

(A) 0·6 m/sec

(B) 0·9 m/sec

(C) 3 m/sec

(D) 0·3 m/sec

9. Îà–ƒøt¡à P¡oàìS¡¹ SI &A¡A¡[i¡ Òº

(A) šàÎA¡àº

(B) K m s-2

(C) Nm-2

(D) Nm s-2
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7. Equal weight of methane and

hydrogen are mixed in an empty

container at 25 ºC. The fraction of

the total pressure exerted by

hydrogen is

(A)
16

17

(B)
8

9

(C)
1

2

(D)
1

9

8. The average velocity of an ideal gas

molecule at 27 ºC is 0·3 m/sec. The

average velocity at 927 ºC will be

(A) 0·6 m/sec

(B) 0·9 m/sec

(C) 3 m/sec

(D) 0·3 m/sec

9. The SI unit of viscosity coefficient ( )h

is

(A) pascal

(B) K m s-2

(C) Nm-2

(D) Nm s-2



10. ë™ Nøàó¡[i¡ &A¡[i¡ "àƒÅ¢ K¸àìÎ¹ "àW¡¹oìA¡
šø[t¡[>[‹Œ A¡ì¹ >à ëÎ[i¡ Òº

11. CsBr &¹ Kk¡> Òº bcc &¤} &¹ šøàì”z¹ íƒQ¢¸ 
Òº 4·3 Å. Cs+  &¤} Br -&¹ ³ì‹¸ Ûå¡‰t¡³
"à”z@"àÚ[>A¡ ƒè¹Œ Òº

(A) 1·86 Å

(B) 3·72 Å

(C) 4·30 Å

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

12. &A¡[i¡ ëA¡ºàìÎ¹ º¸à[i¡Î š¸à¹à[³i¡à¹ a b c= =

&¤} a g= = 90º, b ¹ 90º¡. ëA¡ºàÎ
[ÎìÐ¡³[i¡ Òº

(A) ¹ì´¬àìÒl¡öàº

(B) ³ì>à[AÃ¡[>A¡

(C) ëi¡i¡öàìKà>àº

(D) "ì=¢à¹[´¬A¡
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10. The graph that does not represent

the behaviour of an ideal gas is

11. CsBr has bcc structure and its

length is 4·3 Å. The shortest inter-

ionic distance in between Cs+  and 

Br -  is

(A) 1·86 Å

(B) 3·72 Å

(C) 4·30 Å

(D) None of the above

12. A crystal has the lattice parameters 

a b c= =  and a g= = 90º, b ¹ 90º. The 

crystal system is

(A) rhombohedral

(B) monoclinic

(C) tetragonal

(D) orthorhombic

(A)
p

V

(B)

(C)

(D)

p

pV

V

1/V

T

t (ºC)–273 ºC

(A)
p

V

(B)

(C)

(D)

p

pV

V

1/V

T

t (ºC)–273 ºC



13. ™J> NaCl ëA¡ºàÎìA¡ ëÎà[l¡Úà³ ¤àìÍš¹
l¡üš[Ñ‚[t¡ìt¡ l¡üv¡œ¡ A¡¹à ÒÚ, t¡à Òºåƒ ¤ìo¢
¹ê¡šà”z[¹t¡ ÒÚ¡ú &i¡à ™à Kk¡ì>¹ A¡à¹ìo ÒÚ t¡à
Òº

(A) Schottky yç¡[i¡

(B) Frenkel yç¡[i¡

(C) F-ëA¡–ƒø

(D) H-ëA¡–ƒø

14. CaF2 ët¡ Ca 2+  "àÚì>¹ ëA¡à"[l¢¡ì>Å>

Î}J¸à[i¡ Òº 8. F -  "àÚ>[i¡¹ ëA¡à"[l¢¡ì>Å>
Î}J¸à[i¡ Òº

(A) 1

(B) 2

(C) 4

(D) 8

15. n-i¡àÒüš "‹¢š[¹¤àÒã¹ š[i¡¡ Kk¡>[i¡ Òº

(A) I

(B) II

(C) III

(D) IV
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13. When crystals of NaCl are heated in

the presence of sodium vapour, they 

turn yellow colour. This is due to the 

formation of

(A) Schottky defect

(B) Frenkel defect

(C) F-centres

(D) H-centres

14. The coordination number of the 

Ca 2+  ion in CaF2 is 8. The

coordination number of the F -  ion is

(A) 1

(B) 2

(C) 4

(D) 8

15. The band structure in an n-type

semiconductor is

(A) I

(B) II

(C) III

(D) IV

E
n

e
rg

y

I II III IV

E
n

e
rg

y

I II III IV



16. [>ìW¡¹ ëÎi¡P¡[º¹ ³ì‹¸ "¤Ñ‚àKt¡ W¡º¹à[Å¹
ëÎiô¡[i¡ Òº

(A) W¡àš, t¡àš³àyà, &>ô=àº[š

(B) &>ô=àº[š, t¡àš³àyà, "àÚt¡>

(C) "àÚt¡>, t¡àš³àyà, t¡àš ‹¹A¡Œ

(D) Q>Œ, t¡àš³àyà, W¡àš

17.
¶

¶

G

P T

æ
è
ç

ö
ø
÷ =

(A) V

(B) S

(C) -S

(D) -V

18. 2 mole "àK¢> K¸àÎìA¡ [Ñ‚¹ "àÚt¡ì> 300 K

ë=ìA¡ 500 K š™¢”z l¡üv¡œ¡ A¡¹à Òìº
&>ôi¡ö[š¹ š[¹¤t¢¡> ÒÚ (ëƒ*Úà "àìá 
log /5 3 = 0·2218)

(A) –12·74 J/K/mol

(B) –6·37 J/K/mol

(C) 6·37 J/K/mol

(D) 12·74 J/K/mol

19. [Ñ‚¹ "àÚt¡ì> &A¡[i¡ K¸àìÎ¹ "àìš[Û¡A¡ t¡àš Òº 
0·075 A¡¸àìºà[¹ &¤} &¹ Î}ìA¡t¡ P¡¹ç¡Œ 40.
K¸àÎ[i¡¹ šà¹³ào[¤A¡t¡à Òº

(A) 1

(B) 2

(C) 3

(D) 4
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16. Among the following sets, a set of

intensive variable is

(A) pressure, temperature, enthalpy

(B) enthalpy, temperature, volume

(C) volume, temperature, heat

capacity

(D) density, temperature, pressure

17.
¶

¶

G

P T

æ
è
ç

ö
ø
÷ =

(A) V

(B) S

(C) -S

(D) -V

18. The change in entropy when 2 moles 

of argon gas are heated at constant

volume from 300 K to 500 K is

(given log /5 3 = 0·2218)

(A) –12·74 J/K/mol

(B) –6·37 J/K/mol

(C) 6·37 J/K/mol

(D) 12·74 J/K/mol

19. The specific heat of a gas is

0·075 calorie at constant volume

and its formula weight is 40. The

atomicity of the gas would be

(A) 1

(B) 2

(C) 3

(D) 4



20. [>³—[º[Jt¡ [¤[yû¡ÚàP¡[ºìA¡ [¤ì¤W¡>à A¡¹ :

 HCl NaOH NaCl H O cal+ ® + +2 x        

H SO NaOH Na SO H O cal2 4 2 4 22 2+ ® + + y

t¡àÒìº

(A) x y=

(B) x y= 2

(C) x
y

=
2

(D) x y=

21. NH3 &¹ Kk¡> &>ô=àº[š Òº -x kJ

&¤} DHH H— , DHN H—  Òº ™=àyû¡ì³
y kJ mol-1 &¤} z kJ mol-1.

DHN N>  &¹ ³à>[i¡ Òº

(A) y z
x

- +6
3

(B) - + -3 6 2y z x

(C) 3 6y z x+ +

(D) y x z+ +6

22. 10 ml HCl &¹ &A¡[i¡ \ºãÚ ‰¤ìo¹ pH

Òº 4. &¹ pH 4 ë=ìA¡ 5& š[¹¤t¢¡> A¡¹ìt¡
Òìº ë™ š[¹³ào \º &¹ Îàì= ë™àK A¡¹ìt¡ Òì¤ 
t¡à Òº

(A) 30 ml

(B) 60 ml

(C) 90 ml

(D) 120 ml
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20. Consider the following reactions :

 HCl NaOH NaCl H O cal+ ® + +2 x        

H SO NaOH Na SO H O cal2 4 2 4 22 2+ ® + + y

Then

(A) x y=

(B) x y= 2

(C) x
y

=
2

(D) x y=

21. The enthalpy of the formation of 

NH3 is -x kJ and DHH H— , DHN H—

are respectively y kJ mol-1 and

z kJ mol-1. The value of DHN N>  is

(A) y z
x

- +6
3

(B) - + -3 6 2y z x

(C) 3 6y z x+ +

(D) y x z+ +6

22. The pH of a 10 ml aqueous solution

of HCl is 4. The amount of water is

to be added to this solution in order

to change its pH from 4 to 5 is

(A) 30 ml

(B) 60 ml

(C) 90 ml

(D) 120 ml



23. [>ìW¡¹ [¤[yû¡ÚàP¡[º¹ ³ì‹¸ W¡àš ¤õ[‡ý¡ìt¡ ëA¡à>[i¡¹
Îà³¸ šø®¡à[¤t¡ ÒÚ >à?

(A) 2 23 2 2SO g SO g O g( ) ( ) ( ), +

(B) H g I s HI g2 2 2( ) ( ) ( )+ ,

(C) C s H O g CO g H g( ) ( ) ( ) ( )+ +2 2,

(D) 3 4 2Fe s H O g( ) ( )+ ,

       Fe O s H g3 4 24( ) ( )+

24. [>ìW¡¹ [¤[yû¡Úà[i¡¹ \>¸ Îà³¸à¤Ñ‚àÚ

   C s CO g CO g( ) ( ) ( )+ 2 2,

ë³ài¡ W¡àš 12 atm. K p &¹ ³à> Òº

(A) 16

(B) 32

(C) 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

25. CaF2 (K sp = 1·7×10 10- ) &¹ "‹@ìÛ¡š

šà*Úà ™àÚ, [>ìW¡¹ ëA¡à>[i¡¹ Î³"àÚt¡ì>¹
[³Åøìo¹ ó¡ìº?

(A) 10 104 2 4- + - -+M MCa F

(B) 10 105 2 3- + - -+M MCa F

(C) 10 103 2 5- + - -+M MCa F

(D) 10 102 2 3- + - -+M MCa F

26. &A¡[i¡ ³õƒå "¸à[Îl¡, HA &¹ p aK  Òº 4·80

&¤} ³õƒå Û¡à¹, BOH &¹ p bK  Òº 4·78.
&ìƒ¹ ÎU[t¡šèo¢ º¤o, BA &¹ &A¡[i¡ \ºãÚ
‰¤ìo¹ pH Òì¤

(A) 4·29

(B) 7·01

(C) 9·22

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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23. In which among the following

reactions, the equilibrium is not

affected by an increase in pressure?

(A) 2 23 2 2SO g SO g O g( ) ( ) ( ), +

(B) H g I s HI g2 2 2( ) ( ) ( )+ ,

(C) C s H O g CO g H g( ) ( ) ( ) ( )+ +2 2,

(D) 3 4 2Fe s H O g( ) ( )+ ,

       Fe O s H g3 4 24( ) ( )+

24. Under the equilibrium conditions for 

the reaction

   C s CO g CO g( ) ( ) ( )+ 2 2,

the total pressure is 12 atm. The

value of K p is

(A) 16

(B) 32

(C) 2

(D) None of the above

25. The precipitate of CaF2

(K sp = 1·7×10 10- ) obtained, when

equal volume of which of the

following are mixed?

(A) 10 104 2 4- + - -+M MCa F

(B) 10 105 2 3- + - -+M MCa F

(C) 10 103 2 5- + - -+M MCa F

(D) 10 102 2 3- + - -+M MCa F

26. The p aK  of a weak acid, HA, is 4·80

and p bK  of a weak base, BOH, is

4·78. The pH of an aqueous solution

of their corresponding salt, BA, will

be

(A) 4·29

(B) 7·01

(C) 9·22

(D) None of the above



27. 2 ë³àºàº \ºãÚ NaCl ‰¤ìo¹ \>¸ KØl¡
"àÚ>ãÚ Î[yû¡Út¡à P¡oàS¡ ( )g ±  &¤}
[l¡¤àÒü-[Òl¡üìA¡º Îã³àt¡w ‹øç¡¤A¡ ( )A  ë™®¡àì¤
Î´š[A¢¡t¡, t¡à Òº

(A) log g ± = 2 A

(B) log g ± = - 2 A

(C) g ± = 104

(D) g ±
-= 10 4

28. A e B2 2+ + ® , [¤[yû¡Úà[i¡¹ \>¸ [K¤ôÎ
³åv¡û¡Å[v¡û¡¹ š[¹¤t¢¡> ¤¸¤Òà¹ A¡¹ìº >à>¢ìÐ¡¹
Î³ãA¡¹o[i¡ ÒÚ

(A) D DG G= +º 2·303RT
B

A
log

[ ]

[ ]

(B) D DG G= -º 2·303RT
B

A
log

[ ]

[ ]

(C) D DG G= - +º 2·303RT
B

A
log

[ ]

[ ]

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

29. ëºl¡-"¸à[Îl¡ Îe¡àÚA¡ ëA¡àìÈ¹ [¹W¡àì\¢¹ Î³Ú
"¸àì>àìl¡ Î}K[k¡t¡ [¤[yû¡Úà[i¡ Òº

(A) Pb Pb2+ ®

(B) Pb Pb2 4+ +®

(C) Pb Pb® +2

(D) Pb Pb4 2+ +®

30. Zn Zn aq Cu aq Cu| ( )|| ( )|+ +2 2 ; 25 ºC

t¡àš³àyàÚ ëA¡àÈ[i¡¹ \>¸ E º &¹ ³à> Òº
1·10 volt. ëA¡àÈ [¤[yû¡Úà[i¡¹ \>¸ Îà³¸
‹øç¡¤A¡[i¡¹ ³àì>¹ yû¡³ Òº

(A) 10 37-

(B) 10 17-

(C) 1017

(D) 1037
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27. For 2 molal aqueous NaCl solution,

the mean ionic activity coefficient 

( )g ±  and Debye-Hückel limiting law

constant ( )A  are related as

(A) log g ± = 2 A

(B) log g ± = - 2 A

(C) g ± = 104

(D) g ±
-= 10 4

28. The Nernst equation for the reaction

  A e B2 2+ + ®

using the Gibbs’ free energy change

is

(A) D DG G= +º 2·303RT
B

A
log

[ ]

[ ]

(B) D DG G= -º 2·303RT
B

A
log

[ ]

[ ]

(C) D DG G= - +º 2·303RT
B

A
log

[ ]

[ ]

(D) None of the above

29. During the recharging of lead-acid

storage cell, the reaction at anode is

(A) Pb Pb2+ ®

(B) Pb Pb2 4+ +®

(C) Pb Pb® +2

(D) Pb Pb4 2+ +®

30. Zn Zn aq Cu aq Cu| ( )|| ( )|+ +2 2 ; E º value

for the cell is 1·10 volt at 25 ºC. The

equilibrium constant for the cell

reaction is of the order of

(A) 10 37-

(B) 10 17-

(C) 1017

(D) 1037



31. [>ìW¡ šøƒv¡ t¡=¸P¡[º ¤¸¤Òà¹ A¡ì¹ Å[v¡û¡Åàºã
[¤\à¹A¡ ‰¤¸[i¡ Î>àv¡û¡ A¡¹ :

E
Cr O Cr2 7

2 3- + =
|

º 1·33 V, E
Cl Cl2|
º

- = 1·36 V

E
MnO Mn4

2 1- + =
|

º ·51 V, E
Cr Cr3+ = -

|
º 0·74 V

(A) Cl-

(B) Cr

(C) Cr 3+

(D) Mn2+

32. [>ìW¡ &A¡[i¡ [¤[yû¡Úà¹ \>¸ \[Øl¡t¡ ƒå[i¡ ‹àš ëƒ*Úà 
Òº :

šø=³ ‹àš  G H,2

[‡t¡ãÚ ‹àš G H P+ ®

">å³à> A¡¹ ë™ šø=³ ‹àš ‰ç¡t¡ ®¡à¹Îà³¸ "\¢>
A¡ì¹¡ú P  Kk¡ì>¹ Òà¹ Î³à>åšà[t¡A¡ ÒÚ ™à¹
Îàì=, ëÎ[i¡ Òº

(A) [ ] /G 1 2

(B) [ ]G

(C) [ ] /G 3 2

(D) [ ]G 2

33. 2 33 2x x, , [¤[yû¡Úà[i¡¹ \>¸ x 2&¹ Kk¡>
Òà¹[i¡ Òº

(A) 3 3-
æ

è
ç

ö

ø
÷

d x

dt

[ ]

(B)
1

2
3-

æ

è
ç

ö

ø
÷

d x

dt

[ ]

(C)
1

3
3-

æ

è
ç

ö

ø
÷

d x

dt

[ ]

(D)
3

2
3-

æ

è
ç

ö

ø
÷

d x

dt

[ ]
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31. Identify the strongest reducing agent 

using the data given below :

E
Cr O Cr2 7

2 3- + =
|

º 1·33 V, E
Cl Cl2|
º

- = 1·36 V

E
MnO Mn4

2 1- + =
|

º ·51 V, E
Cr Cr3+ = -

|
º 0·74 V

(A) Cl-

(B) Cr

(C) Cr 3+

(D) Mn2+

32. For a reaction involving two steps

given below :

1st step G H,2

2nd step G H P+ ®

Assuming that first step attains

equilibrium rapidly, the rate of

formation of P  is proportional to

(A) [ ] /G 1 2

(B) [ ]G

(C) [ ] /G 3 2

(D) [ ]G 2

33. For the reaction, 2 33 2x x, , the rate

of formation of x 2 is

(A) 3 3-
æ

è
ç

ö

ø
÷

d x

dt

[ ]

(B)
1

2
3-

æ

è
ç

ö

ø
÷

d x

dt

[ ]

(C)
1

3
3-

æ

è
ç

ö

ø
÷

d x

dt

[ ]

(D)
3

2
3-

æ

è
ç

ö

ø
÷

d x

dt

[ ]



34. &A¡[i¡ ¹àÎàÚ[>A¡ [¤[yû¡Úà¹ Òà¹ šø[t¡ 10 ºC

t¡àš³àyà ¤õ[‡ý¡¹ \>¸ [‡P¡o ¤õ[‡ý¡ šàÚ¡ú ™[ƒ
t¡àš³àyà 50 ºC ¤õ[‡ý¡ A¡¹à ÒÚ, [¤[yû¡Úà[i¡¹ Òà¹
¤õ[‡ý¡ šàÚ šøàÚ

(A) 10 P¡o

(B) 24 P¡o

(C) 32 P¡o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

35. 2A B C D+ ® +  [¤[yû¡Úà[i¡ [¤ì¤W¡>à A¡¹¡ú ™[ƒ 
Òà¹ šøA¡àÅ¹à[Å ÒÚ r k p pA B= ( ) ( )2 0 &¤}

™[ƒ "àÚt¡> ÒùàÎ ëšìÚ &A¡ tõ¡t¡ãÚà}Å ÒÚ, t¡ì¤
[¤[yû¡Úà[i¡¹ Òà¹ ¤õ[‡ý¡ šàì¤

(A) 27 P¡o

(B) 9 P¡o

(C) 8 P¡o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

36. &A¡[i¡ [¤[yû¡Úà [‡t¡ãÚ-yû¡³ [¤[yû¡Úà¹ Òà¹ Îèy 
-

=
d A

dt
k A

[ ]
[ ]2 ">åÎ¹o A¡ì¹, ™[ƒ

(A) &A¡[i¡ ëºJ[W¡ìy [ ]A  ¤>à³ t &A¡[i¡
Î¹ºì¹Jà ÒÚ

(B) &A¡[i¡ ëºJ[W¡ìy 
1

[ ]A
 ¤>à³ t &A¡[i¡

Î¹ºì¹Jà ÒÚ

(C) &A¡[i¡ ëºJ[W¡ìy ln[ ]A  ¤>à³ t &A¡[i¡
Î¹ºì¹Jà ÒÚ

(D) &A¡[i¡ ëºJ[W¡ìy e A[ ]  ¤>à³ t &A¡[i¡
Î¹ºì¹Jà ÒÚ
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34. The rate of a chemical reaction

doubles for every 10 ºC rise of

temperature. If the temperature is

raised by 50 ºC, the rate of reaction

increases by about

(A) 10 times

(B) 24 times

(C) 32 times

(D) None of the above

35. Consider the reaction, 

2A B C D+ ® + . If the rate

expression is r k p pA B= ( ) ( )2 0 and if

the volume is reduced to one third,

the rate of reaction will increase

(A) 27 times

(B) 9 times

(C) 8 times

(D) None of the above

36. A reaction follows second-order rate

law, 
-

=
d A

dt
k A

[ ]
[ ]2, if

(A) a plot of [ ]A  versus t is a straight

line

(B) a plot of 
1

[ ]A
 versus t is a straight 

line

(C) a plot of ln[ ]A  versus t is a

straight line

(D) a plot of e A[ ] versus t is a

straight line



37. 222 mg CaCl2 ("ào[¤A¡ *\> = 111)
‹à¹oA¡à¹ã &A¡[i¡ \ºãÚ ‰¤ìo¹ "àÚt¡>
10 ml ëA¡ ºQå A¡ì¹ 100 ml A¡¹à Òº¡ú
l¡ü;šÄ ‰¤ìo Cl-  "àÚì>¹ KàØn¡Œ Òº

(A) 0·02 mol lit-1

(B) 0·04 mol lit-1

(C) 0·01 mol lit-1

(D) 2·0 mol lit-1

38. [>ìW¡ ëA¡à>ô t¡¹º ™åKº [³Åøìo¹ ëÛ¡ìy ¹àl¡üÂi¡
Îèy ë=ìA¡ ˜¡oàuA¡ [¤Wå¡¸[t¡ ëƒJà ™àÚ?

(A) "¸à[Îìi¡à> &¤} CS2

(B) ëAÃ¡àì¹àÒüì=> &¤} ë¤øàì³àÒüì=>

(C) "¸à[Îìi¡à> &¤} CHCl3

(D) ë¤>ô[\> &¤} i¡ºåÒü>

39. ëA¡à> &A¡[i¡ K¸àìÎ¹ ‰à¤¸t¡à &A¡[i¡ t¡¹ìº
1 bar W¡àìš 0·05 mol lit-1. t¡àš³àyà [Ñ‚¹
ë¹ìJ 3 bar W¡àìš &¹ ‰à¤¸t¡à A¡t¡ Òì¤?

(A) 0·15 mol/lit

(B) 0·05 mol/lit

(C) 0·017 mol/lit

(D) 1·0 mol/lit

40. &A¡[i¡ ‰¤o 8·6 g/lit Òül¡ü[¹Úà ‹à¹o A¡ì¹¡ú ÒüÒà 
5% &A¡[i¡ "`¡àt¡ ‰àì¤¹ ‰¤ìo¹ ÎìU
Î³à[®¡Îà¹A¡¡ú "`¡àt¡ ‰àì¤¹ "ào[¤A¡ P¡¹ç¡Œ Òì¤

(A) 34·89 g mol-1

(B) 87·3 g mol-1

(C) 174·5 g mol-1

(D) 348·9 g mol-1
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37. 10 ml of an aqueous solution

containing 222 mg of CaCl2 (mol.

wt. = 111) is diluted to 100 ml. The

concentration of Cl-  ion in the

resulting solution is

(A) 0·02 mol lit-1

(B) 0·04 mol lit-1

(C) 0·01 mol lit-1

(D) 2·0 mol lit-1

38. Negative deviation from Raoult’s law

is observed in which of the following

binary liquid mixtures?

(A) Acetone and CS2

(B) Chloroethane and bromoethane

(C) Acetone and CHCl3

(D) Benzene and toluene

39. The solubility of any gas in the

liquid at 1 bar pressure is

0·05 mol lit-1. What will be its

solubility at 3 bar pressure, keeping

the temperature constant?

(A) 0·15 mol/lit

(B) 0·05 mol/lit

(C) 0·017 mol/lit

(D) 1·0 mol/lit

40. A solution containing 8·6 g/lit of

urea is isotonic with 5% solution of

unknown solute. The molar mass of

the unknown solute will be

(A) 34·89 g mol-1

(B) 87·3 g mol-1

(C) 174·5 g mol-1

(D) 348·9 g mol-1



41. [>ìW¡ Q>ìŒ¹ ëA¡à>ô šƒP¡[º t¡àš³àyà¹ l¡üš¹
[>®¢¡¹Åãº >Ú?

(A) ë³àºà[¹[i¡ &¤} ë³àºà[º[i¡

(B) ë³àºà[º[i¡ &¤} >³¢à[º[i¡

(C) ë³àºà[º[i¡ &¤} ë³àº ®¡N—à}Å

(D) ë³àº ®¡N—à}Å &¤} >³¢à[º[i¡

42. óø¡ìÚ“¡[ºÅ "[‹ìÅàÈo Îì³àÌ¡A¡ ëºJ[i¡ ëA¡à>
ëÛ¡ìy &A¡[i¡ Î¹ºì¹Jà ëƒÚ?

(A) x/m vs. P

(B) log x/m vs. P

(C) log x/m vs. log P

(D) x/m vs. 1/P

43. [>ìW¡¹ ëA¡à>ô A¡ºìÚl¡[i¡¹ Î}¹Û¡o Û¡³t¡à
Î¤¢[>³—?

(A) [\ìº[i¡> (Ñ¬o¢Î}J¸à = 0·01)

(B) ël¡G[i¡ö> (Ñ¬o¢Î}J¸à = 15)

(C) "àºå ÅA¢¡¹à (Ñ¬o¢Î}J¸à = 25)

(D) "¸àº¤å[³> (Ñ¬o¢Î}J¸à = 0·25)

44. [>ìW¡¹ ëA¡à>[i¡ ‹>àuA¡ A¡ºìÚl¡ ít¡¹ã A¡¹ì¤?

(A) KI ‰¤o + 2 ëóò¡ài¡à AgNO3 ‰¤o

(B) NH OH4  ‰¤o + 2 ëóò¡ài¡à FeCl3

‰¤o

(C) FeCl3 ‰¤o + 2 ëóò¡ài¡à NH OH4   ‰¤o

(D) AsCl3 &¹ ºQå ‰¤ìo H S2  šàk¡àìº
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41. Which of the following concentration 

terms are independent of

temperature?

(A) Molarity and molality

(B) Molality and normality

(C) Molality and mol fraction

(D) Mol fraction and normality

42. Freundlich adsorption isotherm

gives a straight line on plotting

(A) x/m vs. P

(B) log x/m vs. P

(C) log x/m vs. log P

(D) x/m vs. 1/P

43. Which of the following colloids has

minimum protecting power?

(A) Gelatin (gold number = 0·01)

(B) Dextrin (gold number = 15)

(C) Potato starch (gold number =

25)

(D) Albumin (gold number = 0·25)

44. Which of the following will form a

positive colloid?

(A) KI solution + 2 drops AgNO3

solution

(B) NH OH4  solution + 2 drops FeCl3

solution

(C) FeCl3 solution + 2 drops NH OH4

solution

(D) H S2  is passed in dilute AsCl3

solution



45. A¡ºìÚìl¡¹ ëA¡à>ô ‹³¢[i¡ A¡ºìÚl¡ A¡oà¹ "à‹àì>¹
l¡üš¹ [>®¢¡¹ A¡ì¹ >à?

(A) t¡e¡>

(B) ÒüìºìC¡öàìó¡àì¹[ÎÎ

(C) ÒüìºìC¡öà"Îì³à[ÎÎ

(D) [i¡“¡¸àº šø®¡à¤

46. >àÒüº>-6 Î}ìÅÃÈìo \[Øl¡t¡ "š[¹Òà™¢ ‹àš[i¡ Òº

(A) Òóô¡³¸à> šå>[¤¢>¸àÎ

(B) ë¤A¡³¸à> šå>[¤¢>¸àÎ

(C) óø¡àÒü\ šå>[¤¢>¸àÎ

(D) A¡à[i¢¡ÚàÎ šå>[¤¢>¸àÎ

47. &A¡[i¡ š[º³àì¹¹ >³å>à ‹à¹o A¡ì¹ 200 "oå
šøìt¡¸A¡[i¡¹ "ào[¤A¡ ®¡¹ 103, 300 "oå
šøìt¡¸A¡[i¡¹ "ào[¤A¡ ®¡¹ 104, &¤} 500 "oå
šøìt¡¸A¡[i¡¹ "ào[¤A¡ ®¡¹ 105. &¹ >à ¬́à¹
"¸à®¡àì¹\ "ào[¤A¡ ®¡¹ ( )M N  Òº

(A) 94553

(B) 53200

(C) 66250

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

48. ë™ š[º³à¹[i¡ Î´šèo¢¹ê¡ìš ëóÃ¡à[¹ì>ìi¡l¡ ëÎ[i¡ Òº

(A) [>*[šø>

(B) [š. [®¡. [Î.

(C) l¡¸àyû¡>

(D) ëi¡ó¡º>
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45. Which property of the colloids is not

dependent on the charge of colloidal

particles?

(A) Coagulation

(B) Electrophoresis

(C) Electroosmosis

(D) Tyndall effect

46. The key step in the synthesis of

Nylon-6 involves

(A) Hofmann rearrangement

(B) Beckmann rearrangement

(C) Fries rearrangement

(D) Curtius rearrangement

47. A sample of polymer contains 200

molecules of molecular mass 103

each, 300 molecules of molecular

mass 104 each and 500 molecules of 

molecular mass 105 each. Its

number average molecular mass 

( )M N  is

(A) 94553

(B) 53200

(C) 66250

(D) None of the above

48. The polymer which is fully

fluorinated is

(A) neoprene

(B) PVC

(C) Dacron

(D) Teflon



49. PHBV &¹ ³ì>à³à¹ Òül¡ü[>i¡[i¡ Òº

(A) 3-ÒàÒül¡ö[G[¤l¡üi¡àì>à[ÚA¡ "¸à[Îl¡ &¤}
2-ÒàÒül¡ö[Gìš–i¡àì>à[ÚA¡ "¸à[Îl¡

(B) 3-ÒàÒül¡ö[G[¤l¡üi¡àì>à[ÚA¡ "¸à[Îl¡ &¤}
2-ÒàÒül¡ö[G[¤l¡üi¡àì>à[ÚA¡ "¸à[Îl¡

(C) 3-ÒàÒül¡ö[G[¤l¡üi¡àì>à[ÚA¡ "¸à[Îl¡ &¤}
3-ÒàÒül¡ö[Gìš–i¡àì>à[ÚA¡ "¸à[Îl¡

(D) NÃàÒü[Î> &¤} "¸à[³ì>àA¡¸àšì¹à[ÚA¡ "¸à[Îl¡

50. šà¹³ào[¤A¡ ÒàÒüìl¡öàì\ì>¹ ¤à³à¹ [Î[¹ì\¹
Î¤ìW¡ìÚ ëáài¡ t¡¹UîƒìQ¢¸¹ Ñ‚à>à”zì¹¹ \>¸ t¡¹U
Î}J¸à Òº

(A) 109677·00 cm-1

(B) 15232·91 cm-1

(C) 27419·25 cm-1

(D) 82257·75 cm-1

51. ÒàÒüìl¡öàì\> š¹³àoå¹ ÒüìºC¡öì>¹ ë¤K

(A) ³åJ¸ ëA¡àÚà–i¡à³ Î}J¸à ¤õ[‡ý¡¹ ÎìU ¤õ[‡ý¡ šàÚ

(B) ³åJ¸ ëA¡àÚà–i¡à³ Î}J¸à ¤õ[‡ý¡¹ ÎìU ÒùàÎ šàÚ

(C) ³åJ¸ ëA¡àÚà–i¡à³ Î}J¸à¹ ë™-ëA¡à> ³àì>¹
\>¸ "[®¡Ä

(D) ³åJ¸ ëA¡àÚà–i¡à³ Î}J¸à¹ ÎìU šø=ì³ ¤õ[‡ý¡
šàÚ t¡à¹ š¹ ÒùàÎ šàÚ
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49. The monomer unit of PHBV is

(A) 3-hydroxybutanoic acid and

2-hydroxypentanoic acid

(B) 3-hydroxybutanoic acid and

2-hydroxybutanoic acid

(C) 3-hydroxybutanoic acid and

3-hydroxypentanoic acid

(D) glycine and aminocaproic acid

50. The wave number for the shortest

wavelength transition in the Balmer

series of atomic hydrogen

(RH cm= -109677 1) is

(A) 109677·00 cm-1

(B) 15232·91 cm-1

(C) 27419·25 cm-1

(D) 82257·75 cm-1

51. The velocity of the electron in

hydrogen atom

(A) increases with increasing

principal quantum number

(B) decreases with increasing

principal quantum number

(C) is uniform for any value of

principal quantum number

(D) first increases and then

decreases with principal

quantum number



52. ÒàÒüìl¡öàì\> š¹³àoåìt¡ &A¡[i¡ ÒüìºC¡ö> šø=³ A¡Û¡
ë=ìA¡ ºà[ó¡ìÚ tõ¡t¡ãÚ A¡ìÛ¡ W¡ìº ™àÚ¡ú ¤¸àÎàì‹¢¸¹ 
Åt¡A¡¹à ¤õ[‡ý¡ Òì¤

(A) 800

(B) 900

(C) 600

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

53. ™[ƒ &A¡[i¡ ëšøài¡ì>¹ K[t¡Å[v¡û¡ >ÚP¡o ¤õ[‡ý¡ A¡¹à
ÒÚ, t¡àÒìº &¹ ÎìU Î´š[A¢¡t¡ [l¡ ¤øKô[º
t¡¹UîƒQ¢¸[i¡ Òì¤ šøà=[³A¡ t¡¹UîƒìQ¢¸¹

(A) 3 P¡o

(B) 9 P¡o

(C)
1

3
 P¡o

(D)
1

9
 P¡o

54. [>ìW¡¹ ëA¡à>ô ëºJ[W¡yP¡[º "àìºàA¡ t¡[Øl¡;
šø®¡àì¤¹ Î[k¡A¡ šøƒÅ¢>?

(A) I &¤} II

(B) II &¤} III

(C) III &¤} IV

(D) II &¤} IV
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52. In hydrogen atom, an electron

jumps from first orbit to third orbit.

The percentage of increase in radius

will be

(A) 800

(B) 900

(C) 600

(D) None of the above

53. If kinetic energy of a proton is

increased nine times, then the

de Broglie wavelength associated

with its initial wavelength will be

(A) 3 times

(B) 9 times

(C)
1

3
 times

(D)
1

9
 times

54. Which of the following graphical

representations are correct for

photoelectric effect?

(A) I and II

(B) II and III

(C) III and IV

(D) II and IV
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55. IUPAC &¹ 1990 Îåšà[¹Å ">å™àÚã 109

šà¹³ào[¤A¡ Î}J¸à¹ ë³ïº[i¡¹ Î}ìA¡t¡[i¡ Òº

(A) Unp

(B) Uns

(C) Unn

(D) Une

56. Pd &¹ 5s A¡Û¡ìA¡ l¡üš[Ñ‚t¡ ÒüìºC¡öì>¹ Î}J¸à
Òº

(A) 0

(B) 1

(C) 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

57. O, S, F &¤} Cl &¹ ÒüìºC¡ö> "àÎ[v¡û¡¹ Î[k¡A¡
yû¡³[i¡ Òº

(A) F Cl O S< < <

(B) S O Cl F< < <

(C) O S F Cl< < <

(D) Cl F S O< < <

58. Na, Mg, Al &¤} Si &¹ [‡t¡ãÚ "àÚ>>
[¤®¡ì¤¹ Î[k¡A¡ yû¡³[i¡ Òº

(A) Na Mg Al Si< < <

(B) Mg Al Si Na< < <

(C) Al Si Na Mg< < <

(D) Mg Si Al Na< < <
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55. As per 1990 recommendations of

IUPAC, the symbol of element with

atomic number 109 is

(A) Unp

(B) Uns

(C) Unn

(D) Une

56. The number of electrons present in 

5s orbital of Pd is

(A) 0

(B) 1

(C) 2

(D) None of the above

57. The correct order of electron affinity

of O, S, F and Cl is

(A) F Cl O S< < <

(B) S O Cl F< < <

(C) O S F Cl< < <

(D) Cl F S O< < <

58. The correct order of second

ionization potential of Na, Mg, Al

and Si is

(A) Na Mg Al Si< < <

(B) Mg Al Si Na< < <

(C) Al Si Na Mg< < <

(D) Mg Si Al Na< < <



59. ë³ì“¡[ºìó¡¹ š™¢àÚ-Îà¹[oìt¡ [>ìW¡¹ ëA¡à>ô
ë³ïìº¹ ë\àØl¡[i¡ ¤¸[t¡yû¡³ã ë\àØl¡ >Ú?

(A) Ar, K

(B) Co, Ni

(C) Te, I

(D) Mn, Fe

60. [>ìW¡¹ [y-šà¹³ào[¤A¡ [ÑšÅã\P¡[º¹ ¤Þê¡> ëA¡ào 
¤õ[‡ý¡¹ Î[k¡A¡ yû¡³[i¡ Òº

(A) NO NO NO2 2 2
+ -< <

(B) NO NO NO2 2 2
- +< <

(C) NO NO NO2 2 2
+ -< <

(D) NO NO NO2 2 2
- +< <

61. [>ìW¡¹ ëA¡à>ô "oå[i¡¹ Î¤ ¤Þê¡>P¡[º Î³à> >Ú?

(A) NF3

(B) ClF3

(C) BF3

(D) PF3

62. I3
-  &¹ "àAõ¡[t¡ Òº

(A) í¹[JA¡

(B) V-"àAõ¡[t¡¹

(C) [yìA¡àoãÚ Îà³t¡[ºA¡

(D) [š¹à[³l¡ãÚ
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59. Which of the following pairs of

element is not anomalous pair in the 

Mendeleev’s periodic table?

(A) Ar, K

(B) Co, Ni

(C) Te, I

(D) Mn, Fe

60. The correct order of increasing bond

angles in the following triatomic

species is

(A) NO NO NO2 2 2
+ -< <

(B) NO NO NO2 2 2
- +< <

(C) NO NO NO2 2 2
+ -< <

(D) NO NO NO2 2 2
- +< <

61. In which of the following molecules

all the bonds are not equal?

(A) NF3

(B) ClF3

(C) BF3

(D) PF3

62. The shape of I3
-  is

(A) linear

(B) V-shaped

(C) trigonal planar

(D) pyramidal



63. ë™ "oå/"àÚ>[i¡¹ ¤Þê¡>yû¡³ 2·5 ëÎ[i¡ Òº

(A) Li2
+

(B) F2
+

(C) O2
+

(D) C2

64. [>ìW¡¹ [¤[yû¡Úà yû¡ì³¹ \>¸ E º &¹ ³à> ëƒ*Úà
Òº :

Mn Mn6 2+ +®  &¹ \>¸ E º &¹ Ko>àAõ¡t¡
³à> (volt-&) Òº

(A) 1·32

(B) 1·66

(C) 2·78

(D) 6·64

65. C60 ët¡ A¡à¤¢ì>¹ \à¹o Î}J¸à Òº

(A) 0

(B) 4

(C) 6

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

66. ëA¡à>ô [¤[yû¡Úà[i¡ \à¹o "=¤à [¤\à¹o ëA¡à>[i¡¹
ÎìUÒü \[Øl¡t¡ >Ú?

(A) CrO Cr O4
2

2 7
2- -®

(B) Cr CrCl® 3

(C) KMnO MnO4 2®

(D) Fe Fe O H O® ×2 3 2x
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63. The molecule/ion having bond order 

of 2·5 is

(A) Li2
+

(B) F2
+

(C) O2
+

(D) C2

64. Given E º values for the following

reaction sequence

The computed value of E º for 

Mn Mn6 2+ +®  (in volt) is

(A) 1·32

(B) 1·66

(C) 2·78

(D) 6·64

65. The oxidation number of carbon in 

C60 is

(A) 0

(B) 4

(C) 6

(D) None of the above

66. Which reaction involves neither

oxidation nor reduction?

(A) CrO Cr O4
2

2 7
2- -®

(B) Cr CrCl® 3

(C) KMnO MnO4 2®

(D) Fe Fe O H O® ×2 3 2x

6+Mn
1·28 V 5+Mn

2·90 V 4+Mn
0·96 V 3+Mn

1·50 V2+Mn

6+Mn
1·28 V 5+Mn

2·90 V 4+Mn
0·96 V 3+Mn

1·50 V2+Mn



67. KF, CaO &¤} CaF2 &¹ ³ì‹¸ \àºA¡Å[v¡û¡¹
Î[k¡A¡ yû¡³[i¡ Òº

(A) KF CaO CaF< < 2

(B) CaO CaF KF< <2

(C) CaF KF CaO2 < <

(D) KF CaF CaO< <2

68. [>ìW¡¹ ëA¡à>[i¡ "àìºàA¡¹àÎàÚ[>A¡ ëA¡àìÈ Î¤¢à[‹A¡
¤¸¤Òê¡t¡ ÒÚ?

(A) Li

(B) Na

(C) Cs

(D) Fr

69. A¡à¤¢ì>i¡P¡[º¹ t¡àšÑ‚à[ÚìŒ¹ Î[k¡A¡ yû¡³[i¡ Òº

(A) Na CO K CO2 3 2 3> >

       BeCO BaCO3 3>

(B) K CO Na CO2 3 2 3> >

       BaCO BeCO3 3>

(C) BaCO BeCO3 3> >

      K CO Na CO2 3 2 3>

(D) BeCO Na CO3 2 3> >

       BaCO K CO3 2 3>

70. 10 "àÚt¡>³àyà¹ H O2 2 ‰¤ìo¹ Åt¡A¡¹à ³àyà
Òº

(A) 1

(B) 3

(C) 10

(D) 12
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67. Among KF, CaO and CaF2, the

correct order of lattice energy is

(A) KF CaO CaF< < 2

(B) CaO CaF KF< <2

(C) CaF KF CaO2 < <

(D) KF CaF CaO< <2

68. Which of the following is most

commonly used in photochemical

cells?

(A) Li

(B) Na

(C) Cs

(D) Fr

69. The correct thermal stability order of 

the carbonates is

(A) Na CO K CO2 3 2 3> >

       BeCO BaCO3 3>

(B) K CO Na CO2 3 2 3> >

       BaCO BeCO3 3>

(C) BaCO BeCO3 3> >

      K CO Na CO2 3 2 3>

(D) BeCO Na CO3 2 3> >

       BaCO K CO3 2 3>

70. The percentage strength of

10 volume strength H O2 2 is

(A) 1

(B) 3

(C) 10

(D) 12



71. ë™ ë³ïìº¹ Nøç¡š[i¡ ÒàÒül¡öàÒül¡ K¸àìš¹ \>¸ ƒàÚã
ëÎ[i¡ Òº

(A) Mn, Ca, Ni

(B) Mn, Fe, Co

(C) Mn, Fe, Li

(D) Mn, Cu, Cl

72. A¡àÐ¡ "àÚ¹>, Ð¡ãº &¤} ¹iô¡ "àÚ¹ì> A¡à¤¢ì>¹
š[¹³àìo¹ Î[k¡A¡ yû¡³[i¡ Òº

(A) A¡àÐ¡ "àÚ¹> < Ð¡ãº < ¹iô¡ "àÚ¹>

(B) Ð¡ãº < A¡àÐ¡ "àÚ¹> < ¹iô¡ "àÚ¹>

(C) ¹iô¡ "àÚ¹> < Ð¡ãº < A¡àÐ¡ "àÚ¹>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

73. [>ìW¡¹ ëA¡à>[i¡ "¸àºå[³[>Úàì³¹ J[>\ >Ú?

(A) ¤GàÒüi¡

(B) yû¡àìÚàºàÒüi¡

(C) [W¡>à³à[i¡

(D) ³¸àºàW¡àÒüi¡

74. [>ìW¡¹ ëA¡à>[i¡ ‹àtå¡¹ š[¹ìÅà‹> š‡ý¡[t¡ >Ú?

(A) [º[W¡}

(B) ³“¡Îô

(C) ®¡¸à> "à¹ìA¡º

(D) ëšà[º}
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71. The group of elements responsible

for hydride gap is

(A) Mn, Ca, Ni

(B) Mn, Fe, Co

(C) Mn, Fe, Li

(D) Mn, Cu, Cl

72. The correct order of carbon content

in cast iron, steel and wrought iron

is

(A) cast iron < steel < wrought iron

(B) steel < cast iron < wrought iron

(C) wrought iron < steel < cast iron

(D) None of the above

73. Which of the following is not mineral 

of aluminium?

(A) Bauxite

(B) Cryolite

(C) China clay

(D) Malachite

74. Which of the following is not a metal 

refining process?

(A) Leaching

(B) Mond’s

(C) van Arkel

(D) Poling



75. =³àÎ ÑÃ¸àK Òº

(A) A¡¸àº[ÎÚà³ [Î[ºìA¡i¡

(B) "¸àì>àl¡ ³àl¡

(C) ëó¡¹àÎ [Î[ºìA¡i¡

(D) A¡¸àº[ÎÚà³ ó¡Îìó¡i¡

76. šàÒü¹àÒüiô¡ÎìA¡ l¡üv¡œ¡ A¡ì¹ Îàºó¡àì¹¹ "šÎà¹oìA¡ 
¤ºà ÒÚ

(A) [¤Kº>

(B) ®¡Ñ¶ãA¡¹o

(C) t¡àš \à¹o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

77. "[Gì\> K¸àÎ ëÅà[Èt¡ ÒÚ ™à¹ ‡à¹à ëÎ[i¡ Òº

(A)

 

‰¤o

(B) FeSO4 ‰¤o

(C) Cu Cl2 2 ‰¤o

(D) t¡à[š¢> ët¡º

78. XeF6 Î´šèo¢ "à‰¢[¤ìÅÃÈìo [A¡ ëƒÚ?

(A) XeOF4

(B) XeO3

(C) XeO F2 2

(D) [ ]HXeO4
-
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75. Thomas slag is

(A) calcium silicate

(B) anode mud

(C) ferrous silicate

(D) calcium phosphate

76. Heating of pyrites to remove sulphur 

is called

(A) smelting

(B) calcination

(C) roasting

(D) None of the above

77. Oxygen gas is absorbed by

(A)

 

solution

(B) FeSO4 solution

(C) Cu Cl2 2 solution

(D) terpene oil

78. Complete hydrolysis of XeF6 gives

(A) XeOF4

(B) XeO3

(C) XeO F2 2

(D) [ ]HXeO4
-

OK

OK

OK

OK

OK

OK



79. [ ]Si O6 18
n -  ÎàÒü[AÃ¡A¡ [Î[ºìA¡i¡ "¸à>àÚ>[i¡¹

l¡üš¹ Îà[¤¢A¡ W¡à\¢ Òº

(A) 6

(B) 12

(C) 18

(D) 24

80. [>ìW¡¹ ëA¡à>[i¡ &A¡[i¡ ëšøài¡[>A¡ "¸à[Îl¡ >Ú?

(A) H PO3 2

(B) H PO3 3

(C) H PO3 4

(D) H BO3 3

81. ë®¡\à ³à[i¡ìt¡ CaNCN "à‰¢[¤ìÅÃ[Èt¡ ÒìÚ ít¡¹ã 
A¡ì¹

(A) CO NH( )2 2

(B) N2

(C) HCN

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

82. [>ìW¡ šøƒv¡ [¤[yû¡Úà ÅõTìº "[”z³ [¤[yû¡Úà\àt¡
šƒà=¢ Òº X

 BCl NH Cl
C NaBH

3 4
140 4+ ¾ ®¾¾¾ ¾ ®¾¾¾¾

º
P X

X  Òº

(A) B N H3 3 3

(B) B N H3 3 6

(C) B N H3 3 12

(D) B H2 6
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79. The overall charge present on the

cyclic silicate anion [ ]Si O6 18
n -  is

(A) 6

(B) 12

(C) 18

(D) 24

80. Which of the following is not a

protonic acid?

(A) H PO3 2

(B) H PO3 3

(C) H PO3 4

(D) H BO3 3

81. CaNCN on hydrolysis in wet soil

produces

(A) CO NH( )2 2

(B) N2

(C) HCN

(D) None of the above

82. In the reaction sequence given below 

the final product is X

 BCl NH Cl
C NaBH

3 4
140 4+ ¾ ®¾¾¾ ¾ ®¾¾¾¾

º
P X

X  is

(A) B N H3 3 3

(B) B N H3 3 6

(C) B N H3 3 12

(D) B H2 6



83. [>ìW¡¹ ëA¡à>[i¡ Û¡oÑ‚àÚã [¤¹g> [yû¡Úà ëƒJàÚ?

(A) SO2

(B) H O2 2

(C) O3

(D) Cl2

84. S—S ¤Þê¡> ë™[i¡¹ ³ì‹¸ l¡üš[Ñ‚t¡ ëÎ[i¡ Òº

(A) H SO2 5

(B) H S O2 2 6

(C) H S O2 2 7

(D) H S O2 2 8

85. ët¡\[ÑI¡Ú º¸à”‚à>àÒül¡ ë³ïº[i¡ Òº

(A) Pm

(B) Gd

(C) Lu

(D) Sm

86. [>ìW¡¹ ëA¡à>[i¡ M L®  W¡à\¢-i¡öàXó¡à¹ &¹ A¡à¹ìo 
¹R¡ã>?

(A) MnO4
-

(B) CrO4
2-

(C) KFe Fe CN[ ( ) ]6

(D) [ ( ) ]Fe bpy 3
2+
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83. Which of the following shows

temporary bleaching action?

(A) SO2

(B) H O2 2

(C) O3

(D) Cl2

84. S—S bond is present in

(A) H SO2 5

(B) H S O2 2 6

(C) H S O2 2 7

(D) H S O2 2 8

85. The radioactive lanthanide element

is

(A) Pm

(B) Gd

(C) Lu

(D) Sm

86. Which of the following is coloured

due to M L®  charge transfer?

(A) MnO4
-

(B) CrO4
2-

(C) KFe Fe CN[ ( ) ]6

(D) [ ( ) ]Fe bpy 3
2+



87. Eu &¤} Tb Îå[Ñ‚t¡ 4 7f  ÒüìºC¡ö> [¤>¸àÎ

šøà[œ¡¹ ³à‹¸ì³ ë™ \à¹o "¤Ñ‚à šøƒÅ¢> A¡ì¹ t¡à
Òº ™=àyû¡ì³ 

(A) +2 &¤} +4

(B) +3 &¤} +4

(C) +2 &¤} +3

(D) +1 &¤} +3

88. Î[Þê¡Kt¡ ‹àtå¡¹ "àÚ>P¡[º¹ ÒàÒüìl¡öÎ> &>ô=àº[š¹ 
Î[k¡A¡ yû¡³[i¡ Òº

(A) Cr Mn Co Ni2 2 2 2+ + + +> > >

(B) Ni Co Mn Cr2 2 2 2+ + + +> > >

(C) Ni Co Cr Mn2 2 2 2+ + + +> > >

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

89. [>ìW¡¹ "àÚ>P¡[º¹ ³ì‹¸ ¤o¢Òã> ™åKº[i¡ Òº

(A) La Gd3 3+ +,

(B) Gd Eu3 3+ +,

(C) Ce Pm3 3+ +,

(D) Yb Tm3 3+ +,

90. [>ìW¡¹ ëA¡à>ô ™åKº[i¡¹ \>¸ šà¹³ào[¤A¡ ¤¸àÎà‹¢¸
"Ñ¬à®¡à[¤A¡ ë¤Åã?

(A) Eu, Yb

(B) Sm, Tm

(C) Gd, Lu

(D) Nd, Ho
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87. Eu and Tb attain stable 4 7f

electronic configuration by

exhibiting oxidation states,

respectively

(A) +2 and +4

(B) +3 and +4

(C) +2 and +3

(D) +1 and +3

88. The correct order of enthalpy of

hydration for the transition metal

ions is

(A) Cr Mn Co Ni2 2 2 2+ + + +> > >

(B) Ni Co Mn Cr2 2 2 2+ + + +> > >

(C) Ni Co Cr Mn2 2 2 2+ + + +> > >

(D) None of the above

89. Among the following ions, the

colourless pair is

(A) La Gd3 3+ +,

(B) Gd Eu3 3+ +,

(C) Ce Pm3 3+ +,

(D) Yb Tm3 3+ +,

90. The atomic radii are abnormally

high for which of the following

pairs?

(A) Eu, Yb

(B) Sm, Tm

(C) Gd, Lu

(D) Nd, Ho



91. ¤Þê¡> Î³à¤Ú¤t¡à šøƒÅ¢> A¡ì¹

(A) [ ( ) ]Co NH NO Cl3 5 2 2

(B) [ ( ) ]Co NH Cl Cl3 5 2

(C) [ ( ) ( )]Co NH H O Cl3 5 2 3

(D) [ ( ) ]Co en Cl Cl2 2

92. Fe CO2 9( )  ë™ïìK [¤ø[\} [ºK¸à“¡ &¤} ‹àtå¡-‹àtå¡ 
¤Þê¡ì>¹ Î}J¸àP¡[º Òº, ™=àyû¡ì³

(A) 2, 0

(B) 3, 1

(C) 3, 2

(D) 3, 3

93. ë™ ë™ïK[i¡ Ç¡‹å³ày "àìºàA¡ Î³à¤Ú¤t¡à šøƒÅ¢>
A¡¹ì¤, \¸à[³[t¡A¡ Î³à¤Ú¤t¡à >Ú ëÎ[i¡ Òº

(A) [ ( )( ) ( ) ]Co C O NH NO2 4 3 2 2 2
-

(B) [ ( ) ]Co en Cl2 2
+

(C) [ ( ) ]Cr gly 3

(D) [ ( ) ]Co en 3
3+

94. [>ìW¡¹ ‹àt¡¤ A¡à¤¢[>º ë™ïKP¡[º¹ ³ì‹¸ ëA¡à>[i¡¹
C—O ¤Þê¡> íƒQ¢¸ Ûå¡‰t¡³?

(A) [ ( ) ]V CO 6
-

(B) [ ( ) ]Fe CO 5

(C) [ ( ) ]Mn CO 6
+

(D) [ ( ) ]Cr CO 6
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91. Linkage isomerism is exhibited by

(A) [ ( ) ]Co NH NO Cl3 5 2 2

(B) [ ( ) ]Co NH Cl Cl3 5 2

(C) [ ( ) ( )]Co NH H O Cl3 5 2 3

(D) [ ( ) ]Co en Cl Cl2 2

92. The numbers of bridging ligands and 

metal-metal bonds in compound 

Fe CO2 9( )  are respectively

(A) 2, 0

(B) 3, 1

(C) 3, 2

(D) 3, 3

93. The complex which will show only

optical isomerism not geometrical

isomerism is

(A) [ ( )( ) ( ) ]Co C O NH NO2 4 3 2 2 2
-

(B) [ ( ) ]Co en Cl2 2
+

(C) [ ( ) ]Cr gly 3

(D) [ ( ) ]Co en 3
3+

94. In which of the following metal

carbonyls the C—O bond length is

shortest?

(A) [ ( ) ]V CO 6
-

(B) [ ( ) ]Fe CO 5

(C) [ ( ) ]Mn CO 6
+

(D) [ ( ) ]Cr CO 6



95. [>ìW¡¹ ëA¡à>ô ë™ïK[i¡/ë™ïKP¡[º ëÒàì³àº¸àš[i¡A¡?

(A) H PtCl2 6[ ]

(B) Li AlH4

(C) [ ( ) ]Ni CO 4

(D) l¡üšì¹¹ Î¤P¡[º

96. \ºãÚ CuSO4 ‰¤o A¡t¢õ¡A¡ ëÅà[Èt¡ "àìºàìA¡¹
¤o¢[i¡ Òº

(A) A¡³ºà-ºàº

(B) >ãº-Î¤å\

(C) Òºåƒ

(D) ë¤P¡>ã

97. [>ìW¡ šøƒv¡ C H4 6 &¹ "àÒüìÎà³à¹P¡[º¹ ³ì‹¸
ë™ ë™ïK[i¡ IR ¤o¢àºãìt¡ 3300 cm-1 Ñ‚àì>
"¤ìÅàÈo š[i¡ šøƒÅ¢> A¡ì¹ ëÎ[i¡ Òº

(A) [¤l¡üi¡à-1,3-l¡àÒüÒü>ô

(B) [¤l¡üi¡-1-"àÒü>ô

(C) [¤l¡üi¡-2-"àÒü>ô

(D) ÎàÒüìAÃ¡à[¤l¡üìi¡>

98. l¡ülô¡*Úàìl¢¡¹ [>Ú³ ">åÎàì¹ [>ìW¡¹ ë™ïK[i¡¹ UV

¤o¢àºãìt¡ šøt¡¸à[Åt¡ l max

Òº

(A) 259 nm

(B) 254 nm

(C) 249 nm

(D) 265 nm
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95. Which of the following complexes

is/are homoleptic?

(A) H PtCl2 6[ ]

(B) Li AlH4

(C) [ ( ) ]Ni CO 4

(D) All of the above

96. The colour of light absorbed by an

aqueous solution of CuSO4 is

(A) orange-red

(B) blue-green

(C) yellow

(D) violet

97. Among the isomers of C H4 6 given

below, the compound which exhibits 

an absorption band at 3300 cm-1 in

IR spectrum, is

(A) buta-1,3-diene

(B) but-1-yne

(C) but-2-yne

(D) cyclobutane

98. According to Woodward rules, the 

l max  expected in the UV spectrum

of the compound shown below

is

(A) 259 nm

(B) 254 nm

(C) 249 nm

(D) 265 nm

O
O



99. ë¤>ô[\> &¤} "¸à[Îìi¡à>àÒüi¡öàÒüº [³Åøo1H NMR

¤o¢àºãìt¡ ƒå[i¡ Î³à> Òü[–i¡ìNøÎì>¹ [ÎUìºi¡
ëƒJàÚ¡ú ë¤>ô[\> &¤} "¸à[Îìi¡à>àÒüi¡öàÒüìº¹
ë³àºà¹ ">åšàt¡ Òº ™=àyû¡ì³

(A) 1 1:

(B) 2 1:

(C) 1 2:

(D) 6 1:

100. [>ìW¡¹ ë™ïKP¡[º¹ "´Ãt¡à¹ Î[k¡A¡ yû¡³[i¡

Òº

(A) I II III< <

(B) II III I< <

(C) III I II< <

(D) III II I< <

101. [>ìW¡¹ ë™ïKP¡[º¹ ³ì‹¸

Û¡à¹A¡ãÚt¡à¹ Î[k¡A¡ yû¡³[i¡ Òº

(A) I II III> >

(B) III I II> >

(C) II I III> >

(D) III II I> >
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99. 1H NMR spectrum of the mixture of

benzene and acetonitrile shows two

singlets of equal integration. The

molar ratio of benzene and

acetonitrile respectively is

(A) 1 1:

(B) 2 1:

(C) 1 2:

(D) 6 1:

100. The correct order of the acidity for

the following compounds

is

(A) I II III< <

(B) II III I< <

(C) III I II< <

(D) III II I< <

101. In the following compounds

the correct order of basicity is

(A) I II III> >

(B) III I II> >

(C) II I III> >

(D) III II I> >

O N2

O

OH

Å
Me N3 NC

O O

OH OH

I II III

I

N N

H

II

N

H

III

O N2

O

OH

Å
Me N3 NC

O O

OH OH

I II III

I

N N

H

II

N

H

III



102. IR ¤o¢àºãìt¡ CN &¹ šøÎà[¹t¡ Ñš–ƒ> &¹ \>¸
A¡àáàA¡à[á "¤Ñ‚à> Òº

(A) 3300 cm-1

(B) 2200 cm-1

(C) 1700 cm-1

(D) 1200 cm-1

103. [>ìW¡¹ ¹ê¡šà”z¹[i¡ìt¡

³‹¸¤t¢¡ã ë™ïK[i¡ Òº

(A) A¡àì¤¢àA¡¸ài¡àÚ>

(B) A¡à¤¢"¸à>àÚ>

(C) ³åv¡û¡³èºA¡

(D) A¡à[¤¢>

104. [>ìW¡¹ š[¹¤t¢¡>[i¡¹ \>¸

  
Ph CH CH CHO

Ph CH CH CH OH

— —

— —

=

=

®

2

Î¤¢à[‹A¡ l¡üš™åv¡û¡ [¤A¡à¹A¡[i¡ Òº

(A) LiAlH4

(B) NaBH4

(C) H2/Ni

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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102. In IR spectrum, the approximate

position for the CN stretching band

is at

(A) 3300 cm-1

(B) 2200 cm-1

(C) 1700 cm-1

(D) 1200 cm-1

103. The intermediate compound in the

following transformation

is

(A) carbocation

(B) carbanion

(C) free radical

(D) carbene

104. The most suitable reagent for the

following conversion

  
Ph CH CH CHO

Ph CH CH CH OH

— —

— —

=

=

®

2

is

(A) LiAlH4

(B) NaBH4

(C) H2/Ni

(D) None of the above

OH

CH I2 2

Zn-Cu
ether OH

OH

CH I2 2

Zn-Cu
ether OH



105. [>ìW¡¹ ë™ïKP¡[º¹ ëÛ¡ìy

Îºì®¡àºàÒü[ÎÎ [¤[yû¡Úà¹ Î[k¡A¡ yû¡³[i¡ Òº

(A) III II I> >

(B) II I III> >

(C) III I II> >

(D) II III I> >

106. [>ìW¡¹ [¤[yû¡Úà-ÅõTìº¡

"[”z³ í\¤ ë™ïK[i Òº

107. [>ìW¡¹ [¤[yû¡ÚàÚ

³åJ¸ [¤[yû¡Úà\àt¡ šƒà=¢ P  Òº
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105. The correct order of rate of solvolysis 

for the following compounds

is

(A) III II I> >

(B) II I III> >

(C) III I II> >

(D) II III I> >

106. The ultimate organic product in the

following reaction sequence

is

107. The major product P  of the following

reaction

is

I II III

Br Br
Br

CH —CH=CH—CH3 3

1) OsO4

2) H IO5 6

(A) CH —C—C—CH3 3

O O

(B) CH —C—OH3

O

(C) CH —C—H3

O

(D) CH —CH3 OH2

O
1) —MgBr

+2) H
P

OH

(A)

OH

OH

(B)

(C)

(D)

I II III

Br Br
Br

CH —CH=CH—CH3 3

1) OsO4

2) H IO5 6

(A) CH —C—C—CH3 3

O O

(B) CH —C—OH3

O

(C) CH —C—H3

O

(D) CH —CH3 OH2

O
1) —MgBr

+2) H
P

OH

(A)

OH

OH

(B)

(C)

(D)



108. [>ìW¡¹ ëA¡à>ô ë™ïK[i¡ SN1 [¤[yû¡Úà "[®¡³åìJ
Î¤ìW¡ìÚ A¡³ Î[yû¡Ú?

109. C H4 6 "ào[¤A¡ Î}ìA¡t¡[¤[ÅÊ¡ ÒàÒüìl¡öàA¡à¤¢>[i¡¹
Î´±à¤¸ Î¤¢à[‹A¡ Kk¡>Kt¡ "àÒüìÎà³àì¹¹ Î}J¸à Òº

(A) 12

(B) 9

(C) 5

(D) 3

110. [>ìW¡¹ [¤[yû¡Úàìt¡

X &¤} Y &¹ W¡àÒü¹àº ëA¡–ƒøP¡[º¹ š¹³
[¤>¸àÎP¡[º Òº ™=àyû¡ì³

(A) 2 3S R,  &¤} 2 3R R,

(B) 2 3R R,  &¤} 2 3R S,

(C) 2 3S S,  &¤} 2 3R R,

(D) 2 3S R,  &¤} 2 3S R,

111. [>ìW¡¹ ëA¡à>ô "oå[i¡ W¡àÒü¹àº?

(A) "C¡ôÒü>ô

(B) "C¡-4-Òü>ô

(C) [ÎÎô-ÎàÒüìAÃ¡à"C¡ôÒü>ô

(D) i¡öàX-ÎàÒüìAÃ¡à"C¡ôÒü>ô
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108. Which of the following compounds is 

least reactive towards SN1 reaction?

109. The maximum number of structural

isomers possible for the hydro-

carbon having molecular formula 

C H4 6 is

(A) 12

(B) 9

(C) 5

(D) 3

110. In the following reaction,

the absolute configurations of the

chiral centres in X  and Y  are

respectively

(A) 2 3S R,  and 2 3R R,

(B) 2 3R R,  and 2 3R S,

(C) 2 3S S,  and 2 3R R,

(D) 2 3S R,  and 2 3S R,

111. Which of the following molecules is

chiral?

(A) Octene

(B) Oct-4-ene

(C) cis-cyclooctene

(D) trans-cyclooctene

(A) (CH ) CBr3 3

(B) Br

(C)

Br

(D) CH =CH—CH —Br2 2

CHO

CH OH2

H OH
HCN

X + Y

(A) (CH ) CBr3 3

(B) Br

(C)

Br

(D) CH =CH—CH —Br2 2

CHO

CH OH2

H OH
HCN

X + Y



112. 2-[³=àÒüº[¤l¡üìi¡ì>¹ ³ì>àìAÃ¡à[¹ì>Åì> l¡ü;šÄ
W¡àÒü¹àº ë™ïìK¹ ë³ài¡ Î}J¸à Òº

(A) 8

(B) 6

(C) 4

(D) 2

113. ë™ ë™ïK[i¡ìt¡ "¸àì¹àì³[i¡A¡ &>º Î´±¤ >Ú, ëÎ[i¡ 
Òº

114. 1-[³=àÒüº ÎàÒüìAÃ¡àìš–iô¡Òü>ìA¡ B D2 6 [ƒìÚ
ÒàÒüìl¡öàì¤àì¹Åì>¹ š¹ Û¡à¹ãÚ H O2 2 &¹ ÎìU
[¤[yû¡Úà A¡¹àìº ™à šà*Úà ™àÚ ëÎ[i¡ Òº
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112. On monochlorination of 2-methyl-

butane, the total number of chiral

compounds formed is

(A) 8

(B) 6

(C) 4

(D) 2

113. Aromatic enol is not possible for

which of the following compounds?

114. Hydroboration of 1-methylcyclo-

pentene using B D2 6, followed by

treatment with alkaline H O2 2 gives

(A)

O

O

(B)

O

O

O

(C)

O

O

(D)

O

O

O

(A)

CH3

D
OH

H

(B)

CH3

D
OH

H

(C)

(D)

CH3

Me

D
OH

OH

H

H

OH

(A)

O

O

(B)

O

O

O

(C)

O

O

(D)

O

O

O

(A)

CH3

D
OH

H

(B)

CH3

D
OH

H

(C)

(D)

CH3

Me

D
OH

OH

H

H

OH



115.

[¤[yû¡Úà\àt¡ C  Òº

(A) n-[¤l¡üìi¡> &¤} Òüì=ì>¹ [³Åøo

(B) n-ëÒìG>

(C) Ç¡‹å³ày ëšøàìš>

(D) Ç¡‹å³ày Òüì=>

116.

ë™ïK  C  Òº

(A) "¸àì¹àì³[i¡A¡ &¤} l¡üZW¡ [‡ì³¹ç¡ °à³A¡™åv¡û¡

(B) "¸àì¹àì³[i¡A¡ &¤} [‡ì³¹ç¡ °à³A¡[¤Òã>

(C) >>ô-"¸àì¹àì³[i¡A¡ &¤} l¡üZW¡ [‡ì³¹ç¡
°à³A¡™åv¡û¡

(D) "¸à[–i¡-"¸àì¹àì³[i¡A¡ &¤} [‡ì³¹ç¡
°à³A¡[¤Òã>

117. [>ìW¡¹ [¤[yû¡ÚàÚ [¤[yû¡Úà\àt¡ P Î>àv¡û¡ A¡¹ :

   ( ) —CH C CH CH NOBr3 2 3= + ® P

(A) ( ) — ( )CH CBr CH NO CH3 2 3

(B) ( ) ( )— —CH C NO CHBr CH3 2 3

(C) ( ) ( )— —CH C OBr CH CH3 2 2 3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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115.

The product C  is

(A) mixture of n-butane and ethane

(B) n-hexane

(C) only propane

(D) only ethane

116. The compound

C  is

(A) aromatic and has high dipole

moment

(B) aromatic and has no dipole

moment

(C) non-aromatic and has high

dipole moment

(D) anti-aromatic and has no dipole

moment

117. Identify the product P  in the

following reaction :

   ( ) —CH C CH CH NOBr3 2 3= + ® P

(A) ( ) — ( )CH CBr CH NO CH3 2 3

(B) ( ) ( )— —CH C NO CHBr CH3 2 3

(C) ( ) ( )— —CH C OBr CH CH3 2 2 3

(D) None of the above

A
Na

liq. NH3
B

1) O3

2) Zn-H O2

C
Zn-Hg

conc. HCl

C

A
Na

liq. NH3
B

1) O3

2) Zn-H O2

C
Zn-Hg

conc. HCl

C



118. ëA¡à>[i¡ Î¤¢à[‹A¡ Îå[Ñ‚t¡?

(A) [¤l¡üi¡-1-Òü>ô

(B) Òü[=>ô

(C) [ÎÎô-[¤l¡üi¡-2-Òü>ô

(D) i¡öàX-[¤l¡üi¡-2-Òü>ô

119. [ÎÎô-[¤l¡üi¡-2-Òü> ëA¡ Br2/CCl4 &¹ ÎìU

ë³Åàìº l¡ü;šÄ [¤[yû¡Úà\àt¡ Òì¤

(A) ( , )2 3R S  l¡àÒüì¤øàì³à[¤l¡üìi¡>

(B) ( , )2 3R R  l¡àÒüì¤øàì³à[¤l¡üìi¡>

(C) ( , )2 3S S  l¡àÒüì¤øàì³à[¤l¡üìi¡>

(D) ( , )2 3R R  &¤} ( , )2 3S S  l¡àÒüì¤øàì³à-
[¤l¡üìi¡ì>¹ [³Åøo

120.

l¡üšì¹¹ ¹ê¡šà”z¹[i¡ìt¡ ë™ ³‹¸¤t¢¡ã ë™ïK[i¡ ít¡¹ã
ÒÚ, ëÎ[i¡ Òº

(A) >àÒü[i¡ö>

(B) ë¤>ô\àÒü>

(C) A¡à[¤¢>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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118. Which one is the most stable?

(A) but-1-ene

(B) Ethene

(C) cis-but-2-ene

(D) trans-but-2-ene

119. When cis-but-2-ene is treated with 

Br2/CCl4, the product formed is

(A) ( , )2 3R S  dibromobutane

(B) ( , )2 3R R  dibromobutane

(C) ( , )2 3S S  dibromobutane

(D) mixture of ( , )2 3R R  and ( , )2 3S S

dibromobutane

120.

In the above transformation, the

intermediate compound formed is

(A) nitrene

(B) benzyne

(C) carbene

(D) None of the above

C H —NH6 5 2

CHCl3

alc. KOH
C H NC6 5C H —NH6 5 2

CHCl3

alc. KOH
C H NC6 5



121. [>³—[º[Jt¡ [¤[yû¡Úà[i¡ìt¡

Î}[ÅÃÊ¡ Î[yû¡Ú ³‹¸¤t¢¡ã ë™ïK[i¡ Òº

(A) A¡à¤¢A¡¸ài¡àÚ>

(B) A¡à¤¢"¸à>àÚ>

(C) ³åv¡û¡³èºA¡

(D) ³èºA¡ A¡¸ài¡àÚ>

122. [>ìW¡¹ [¤[yû¡ÚàÚ 

[¤[yû¡Úà\àt¡ šƒà=¢ P Òº

123. [³=àÒüº Ò¸àºàÒül¡ ë™ïKP¡[º¹ [‡ì³¹ç¡ °à³ìA¡¹
Î[k¡A¡ yû¡³[i¡ Òº

(A) CH I CH Br CH F CH Cl3 3 3 3< < <

(B) CH I CH Br CH Cl CH F3 3 3 3< < <

(C) CH Br CH I CH Cl CH F3 3 3 3< < <

(D) CH F CH Cl CH Br CH I3 3 3 3< < <
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121. The reactive intermediate involved in 

the reaction

is

(A) carbocation

(B) carbanion

(C) free radical

(D) radical cation

122. The product P  of the following

reaction

is

123. The correct order of dipole moment

of methyl halide compound is

(A) CH I CH Br CH F CH Cl3 3 3 3< < <

(B) CH I CH Br CH Cl CH F3 3 3 3< < <

(C) CH Br CH I CH Cl CH F3 3 3 3< < <

(D) CH F CH Cl CH Br CH I3 3 3 3< < <

Ph—C—OAg

O
Br2

PhBr + CO  + AgBr2

+ I2
HNO3

P

(A)

NO2

(B)

(C)

(D)

NO2

NO2

I

I

I

Ph—C—OAg

O
Br2

PhBr + CO  + AgBr2

+ I2
HNO3

P

(A)

NO2

(B)

(C)

(D)

NO2

NO2

I

I

I



124. [>ìW¡¹ [¤[yû¡Úà ÅõTìº¹ ³ì‹¸

³åJ¸ [¤[yû¡Úà\àt¡ šƒà=¢[i¡ Òº

125. [>ìW¡¹ ë™ïKP¡[º¹ ³ì‹¸ ë™ ë™ïK[i¡ l¡üv¡œ¡ A¡¹ìº
[l¡A¡à¤¢[GìºÅ> ÒÚ >à, ëÎ[i¡ Òº

126. ë™ ë™ïK[i¡¹ ÎìU \ºãÚ NaHCO3 ‰¤o ë™àK
A¡¹ìº CO2 [>K¢t¡ ÒÚ >à, ëÎ[i¡ Òº

(A) [šA¡[¹A¡ "¸à[Îl¡

(B) "¸à[>[º[>Úà³ ÒàÒüìl¡öàìAÃ¡à¹àÒül¡

(C) "¸àÎ[š[¹>

(D) A¡à¤¢[ºA¡ "¸à[Îl¡
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124. In the following reaction sequence

the main product X  is

125. Among the following compounds,

the compound which does not

undergo decarboxylation on heating

is

126. The compound that does not liberate 

CO2 on treatment with aqueous 

NaHCO3 solution is

(A) picric acid

(B) anilinium hydrochloride

(C) aspirin

(D) carbolic acid

O

+
N

H

1) PTSA, C H , D6 6

2) CHCl , NaOH3
+3) H O3

X

(A)

O

CHO

(B)

O
N
Å

(C)

O

CO H2

(D)

O

(A)

O
CO H2

Ph

(B) CH —CH—CO H3 2

NO2

(C)

CO H2

O

(D)
O

CO H2

O

+
N

H

1) PTSA, C H , D6 6

2) CHCl , NaOH3
+3) H O3

X

(A)

O

CHO

(B)

O
N
Å

(C)

O

CO H2

(D)

O

(A)

O
CO H2

Ph

(B) CH —CH—CO H3 2

NO2

(C)

CO H2

O

(D)
O

CO H2



127. [ó¡>àÒüº "¸à[Îìi¡ìi¡¹ ÎìU "[t¡[¹v¡û¡ 
CH MgBr3  &¹ [¤[yû¡ÚàÚ l¡ü;šÄ
[¤[yû¡Úà\àt¡P¡[º Òº

(A) "¸à[Îìi¡à> &¤} ëó¡>º

(B) ëó¡>º &¤} t-[¤l¡üi¡à>º

(C) ëó¡>º &¤} "¸à[Î[i¡A¡ "¸à[Îl¡

(D) i¡ºåÒü> &¤} "¸à[Î[i¡A¡ "¸à[Îl¡

128. [>ìW¡¹ [¤[yû¡ÚàÚ

l¡ü;šÄ ³åJ¸ [¤[yû¡Úà\àt¡ P Òº

129. b-ÒàÒül¡ö[G &Ð¡à¹ Î}ìÅÃÈìo¹ \>¸ Î¤¢à[‹A¡
l¡üšì™àKã [¤[yû¡Úà[i¡ Òº

(A) [®¡[i¡K

(B) [óø¡ìl¡º-yû¡¸àóô¡i¡Îô

(C) ë¤A¡³¸à>

(D) [¹ó¡¹³¸ài¡[ÑH
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127. The products formed in the reaction

of phenyl acetate with excess of 

CH MgBr3  are

(A) acetone and phenol

(B) phenol and t-butanol

(C) phenol and acetic acid

(D) toluene and acetic acid

128. The major product P  formed in the

reaction

is

129. The most suitable reaction for the

synthesis of b-hydroxy ester is

(A) Wittig

(B) Friedel-Crafts

(C) Beckmann

(D) Reformatsky

CH —C—(CH ) —CHO3 2 4

O
OH

P

(A)

CH3

—CHO

(B) CH3

O

(C)

O

(D)
CHO

CH —C—(CH ) —CHO3 2 4

O
OH

P

(A)

CH3

—CHO

(B) CH3

O

(C)

O

(D)
CHO



130. N,N-l¡àÒü[³=àÒüº"¸à[>[ºì>¹ ÎìU >àÒüi¡öàÎ
"¸à[Îìl¡¹ [¤[yû¡ÚàÚ l¡ü;šÄ ÒÚ

131. [>³—[º[Jt¡ Î}ìÅÃÈìo ³åJ¸ šƒà=¢[i¡ ëºJ :
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130. The reaction of N,N-dimethylaniline

with nitrous acid produces

131. Write the major product of the

following synthesis :

(A)

N
CH3 CH3

N=O

(B)

N

CH3 CH3
NO

(C)

N
CH3 CH3

NO2

(D)

N

CH3 NO

(A) N—

O
Br

(B) N—

O

—Br

(C) N—

O

Br

(D) N—

O

Br

N—

O

Br —Fe2

(1 eqv.)

(A)

N
CH3 CH3

N=O

(B)

N

CH3 CH3
NO

(C)

N
CH3 CH3

NO2

(D)

N

CH3 NO

(A) N—

O
Br

(B) N—

O

—Br

(C) N—

O

Br

(D) N—

O

Br

N—

O

Br —Fe2

(1 eqv.)



132. ë™ [¤[yû¡Úà[i¡ "àÒüìÎàÎàÚàì>i¡ ³‹¸¤t¢¡ã ë™ïK ëƒÚ, 
ëÎ[i¡ Òº

(A) óø¡àÒü\ šå>[¤¢>¸àÎ

(B) "¸àºl¡º A¡>ìl¡>ìÎÅ>

(C) K¸à[¤øìÚº =¸à[º³àÒül¡

(D) A¡à[i¢¡ÚàÎ šå>[¤¢>¸àÎ

133. [>ìW¡¹ [¤[yû¡Úà ÅõTìº

l¡ü;šÄ ³åJ¸ [¤[yû¡Úà\àt¡ šƒà=¢[i¡ Òº
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132. The reaction that gives an

isocyanate intermediate is

(A) Fries rearrangement

(B) Aldol condensation

(C) Gabriel phthalimide

(D) Curtius rearrangement

133. The major product formed in the

following reaction sequence

is

CH3

O 1) CH CO H3 3

2) LiAlH4

(A)

CH3

OH

OH

(B)

CH3

OH

OH

(C)

CH3
OH

OH

(D)

CH3
OH

OH

CH3

O 1) CH CO H3 3

2) LiAlH4

(A)

CH3

OH

OH

(B)

CH3

OH

OH

(C)

CH3
OH

OH

(D)

CH3
OH

OH



134. [>ìW¡¹ ë™ïKP¡[º¹ ëA¡à>[i¡ l¡àÚàì\àA¡àš[º}
[¤[yû¡ÚàÚ l¡ü^º ºàº ¤ìo¢¹ "‹@ìÛ¡š ëƒÚ?

135. [>ìW¡¹ ëA¡à>ô A¡àì¤¢àÒàÒüìl¡öi¡[i¡ìt¡ &A¡³ày NÃåìA¡à\
Òül¡ü[>i¡ [¤ƒ¸³à>?

(A) Îåìyû¡à\

(B) ³ºìi¡à\

(C) º¸àA¡ìi¡à\

(D) ¹à[ó¡ì>à\

136. [³l¡üi¡àì¹àìi¡Å> ë™[i¡ìt¡ ëƒJà ™àÚ >à, ëÎ[i¡ Òº

(A) D-NÃåìA¡à\

(B) º¸àA¡ìi¡à\

(C) ³ìÂi¡à\

(D) [³=àÒüº NÃåìA¡àÎàÒül¡

137. ë™ "¸à[³ì>à "¸à[Îl¡[i¡ìt¡ ëó¡>[ºA¡ —OH Nøç¡š
¤t¢¡³à>, ëÎ[i¡ Òº

(A) [ó¡>àÒüº "¸àºà[>>

(B) i¡àÒüì¹à[Î>

(C) [i¡öšìi¡àó¡à>

(D) ºàÒü[Î>
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134. Which of the following compounds

will give a bright red colour

precipitate in diazocoupling

reaction?

135. Which of the following

carbohydrates consists only glucose

unit?

(A) Sucrose

(B) Maltose

(C) Lactose

(D) Raffinose

136. Mutarotation is not seen in

(A) D-glucose

(B) lactose

(C) maltose

(D) methylglucoside

137. The amino acid which has phenolic

—OH group, is

(A) phenylalanine

(B) tyrosine

(C) tryptophan

(D) lysine

(A)

NH2

CH3

CH NH2 2

(B)

NH—CH3

(C)

(D)

NH2

CH3

(A)

NH2

CH3

CH NH2 2

(B)

NH—CH3

(C)

(D)

NH2

CH3



138. ëšøà[i¡ì>¹ a-ëÒ[ºG Kk¡> Îå[Ñ‚t¡ ÒÚ ™à¹ ‡à¹à,
ëÎ[i¡ Òº

(A) ëšši¡àÒül¡ ¤Þê¡>

(B) ®¡¸à> l¡à¹ *ÚàºôÎ ¤º

(C) l¡àÒüÎàºó¡àÒül¡ ¤Þê¡>

(D) ÒàÒüìl¡öàì\> ¤Þê¡>

139. ºàº ó¡Îó¡¹àÎ + HI &¹ ÎìU [¤[yû¡ÚàÚ NÃåìA¡à\
ít¡¹ã A¡ì¹

(A) n-ëšì–i¡>

(B) n-[¤l¡üìi¡>

(C) n-ëÒìG>

(D) n-ëÒìŸi¡>

140. ëšøà[i¡ì>¹ l¡üZW¡ Kk¡ì>¹ ³ì‹¸ Î³ì™à\ã
Òü–i¡àì¹A¡Å>[i¡ Òº

(A) ÒàÒüìl¡öàì\> ¤Þê¡>

(B) ®¡¸à> l¡à¹ *ÚàºôÎ ¤º

(C) ÒàÒüìl¡öàìó¡à[¤A¡ Òü–i¡àì¹A¡Å>

(D) l¡àÒüÎàºó¡àÒül¡ ¤Þê¡>

141.  Kk¡ì>¹ ë™ïK[i¡ ë™ A¡àì\

¤¸¤Òê¡t¡ ÒÚ ëÎ[i¡ Òº

(A) Jàƒ¸ Î}¹Û¡A¡

(B) Aõ¡[y³ [³[Ê¡A¡à¹A¡

(C) +È‹

(D) ë®¡à\¸ ¹R¡

142. Îà¤àì>¹ "¸à[–i¡ìÎš[i¡A¡ P¡o "à>à¹ \>¸ ë™
ë™ïK[i¡ ™åv¡û¡ A¡¹à ÒÚ ëÎ[i¡ Òº

(A) ëÎà[l¡Úà³ º[¹ìÚºÎàºìó¡àì>i¡

(B) ëÎà[l¡Úà³ ël¡à[l¡ÎàÒüºì¤>ô[\>Îàºìó¡àì>i¡

(C) ë¹à[\>

(D) [¤[=*>¸àº
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138. a-helix structure of protein is

stabilized by

(A) peptide bonds

(B) van der Waals’ force

(C) disulphide bonds

(D) hydrogen bonds

139. On reaction with red P HI+ , glucose

forms

(A) n-pentane

(B) n-butane

(C) n-hexane

(D) n-heptane

140. The covalent interaction present in

higher structure of protein is

(A) hydrogen bond

(B) van der Waals’ force

(C) hydrophobic interaction

(D) disulphide bond

141. The compound with structure

is used as

(A) food preservative

(B) artificial sweetener

(C) medicine

(D) edible colour

142. The compound which is added to

soap to import antiseptic properties

is

(A) sodium laurylsulphonate

(B) sodium dodecylbenzenesulpho-

nate

(C) rosin

(D) bithional

NH

SO2

O

NH

SO2

O



143. Îàº®¡à¹Îà> Òº &A¡[i¡ "àìÎ¢[>A¡™v¡û¡ +È‹ ™à
šø=³ ¤¸¤Òê¡t¡ ÒìÚ[áº ë™ ë¹àìK¹ [W¡[A¡;Îà¹
\>¸, ëÎ[i¡ Òº

(A) [Î[ó¡[ºÎ

(B) i¡àÒüó¡ìÚl¡

(C) ë³[>>\àÒü[i¡Î

(D) "à³àÅÚ

144. ë™ +È‹[i¡ norethindrone &¤}
ethynylestradiol &¹ [³Åøo ëÎ[i¡ Òº

(A) "¸à[–i¡¤àìÚà[i¡A¡

(B) "¸à[–i¡ó¡à[i¢¡[º[i¡

(C) "¸à[–i¡ìÎš[i¡A¡

(D) "¸à–i¡à[Îl¡

145. 1984 Îàìº ®è¡šàº K¸àÎ ƒåQ¢i¡>à¹ Î³Ú ë™
[¤Èàv¡û¡ K¸àÎ[i¡ [>K¢t¡ ÒìÚ[áº ëÎ[i¡ Òº

(A) [³=àÒüº ÎàÚà>àÒül¡

(B) [³=àÒüº "àÒüìÎàÎàÚà>àÒül¡

(C) [³=àÒüº ÎàÚàì>i¡

(D) [³=àÒüº "àÒüìÎàÎàÚàì>i¡

146. [¤Å« Ñ¬àÑ‚¸ Î}Ñ‚à (WHO)¹ [>ìƒ¢[ÅA¡à ">å™àÚã
šà>ãÚ \ìº "àìÎ¢[>ìA¡¹ [>¹àšƒ ³àyà Òº šø[t¡
[ºi¡àì¹

(A) 0·01 mg

(B) 0·05 mg

(C) 0·10 mg

(D) 0·25 mg
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143. Salvarsan is arsenic containing drug 

which was first used for the

treatment of

(A) syphilis

(B) typhoid

(C) meningitis

(D) dysentery

144. The drug which contains mixture of

norethindrone and ethynylestradiol

is

(A) antibiotics

(B) antifertility

(C) antiseptic

(D) antacid

145. The poisonous gas which was

liberated in the year 1984 during

Bhopal Gas Tragedy is

(A) methyl cyanide

(B) methyl isocyanide

(C) methyl cyanate

(D) methyl isocyanate

146. According to World Health

Organization (WHO) guideline, the

safe limit of arsenic in drinking

water per litre is

(A) 0·01 mg

(B) 0·05 mg

(C) 0·10 mg

(D) 0·25 mg



147. [>ìW¡¹ ëA¡à>[i¡ ëÎìA¡“¡à[¹ ƒèÈA¡?

(A) CO

(B) PAN

(C) CH4

(D) NO

148. ëA¡à> \ìº¹ >³å>àÚ Î¤¢ƒàÒü

(A) BOD = COD

(B) BOD > COD

(C) BOD < COD

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

149. [>ìW¡¹ [¤[yû¡Úà[i¡ìt¡

       Ph O CH Ph
HI

— — 2 ¾ ®¾¾ +X Y

[¤[yû¡Úà\àt¡ šƒà=¢ X  &¤} Y  Òº

(A) Ph CH I— 2  &¤} PhOH

(B) Ph CH OH— 2  &¤} PhI

(C) Ph CH OH— 2  &¤} PhOH

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

150. [>ìW¡¹ ëA¡à>[i¡ "¸àºl¡º A¡>ìl¡>ìÎÅ> ëƒì¤ >à?
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147. Which of the following is secondary

pollutant?

(A) CO

(B) PAN

(C) CH4

(D) NO

148. In a water sample always

(A) BOD = COD

(B) BOD > COD

(C) BOD < COD

(D) None of the above

149. In the following reaction

   Ph O CH Ph
HI

— — 2 ¾ ®¾¾ +X Y

the products X  and Y  are

(A) Ph CH I— 2  and PhOH

(B) Ph CH OH— 2  and PhI

(C) Ph CH OH— 2  and PhOH

(D) None of the above

150. Which of the following will not give

aldol condensation?

(A) CH —CHO3

(B) CH —CH CHO3 2

(C) CH —C—CH —CH —CHO3 2 2

O

(D) (CH ) CH—CHO3 2

(A) CH —CHO3

(B) CH —CH CHO3 2

(C) CH —C—CH —CH —CHO3 2 2

O

(D) (CH ) CH—CHO3 2



SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

/15 45 [ P.T.O.



SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

/15 46



SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

H H H

/15 47 [ P.T.O.



/15 48 KK7—96

READ THE FOL LOW ING IN STRUC TIONS CARE FULLY :  

[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :
1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened

completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà ¤ºšìÚ–i¡
A¡º³ ‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à tò¡àìƒ¹
ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR l¡üv¡¹šy
* šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹  OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú
5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

š¹ãÛ¡à=¢ãìA¡ "¸àl¡[³i¡ A¡àl¢¡ &¤} ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ áàØl¡à ">¸ ëA¡àì>à áàšàì>à ¤à ëºJà A¡àK\, šk¡> * ³å‰o\àt¡ Îà³Nøã, ëš\à¹, ë³à¤àÒüº ëó¡à>,
">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡ A¡àl¢¡ *
ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.

ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú
8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤} [‡t¡ãÚ¤à¹

Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú
9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet

to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK A¡¹ìt¡

šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸ Òì¤ &¤} t¡à
">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú
11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú
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